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TaichuPix3 without injected
charge
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. ITHR =1000, open all the pixels
. Noisy pixel can reach a hits over 25000 times.




<» [nject beta ray from backside
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. ITHR =110 0000, open all the pixels,Only
ITHR=110 0000 \

Noisy pixel can be read out.

o ITHR =1111 1111, open all the pixels, some
pixels had responses, and the backside PCB
shield a big region of pixels

1000 000 0 s 0 0 o 00 . Noisy pixels read out for over 10000 times
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=2 Inject bata source from the front

- ITHR=11000
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. ITHR =1100, open a specific region, less noisy pixels

. Noisy pixel can reach a hits over 1200 times, it indicates the masking
process is not absolutely correct.(May the delay be not enough)

. As the ITHR rise to 11000, the noisy pixels decreased




. ITHR =1100, noisy pixels exit . ITHR =11000, noisy pixels exit
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Thanks for your attention!



